PEML: & BCZRMNNE, Bi%, IE, FRIE, cos BREL, sqrt sR%YL, TEEGRESEATHERSE -

do ii = 1, 30000
do jj = 1, 300000
kk = jj
enddo
enddo

MWfE: WA 13.7 7, BRI EAGEAAIESR]Z9 15 ns -

do ii = 1, 30000
do jj = 1, 300000
kk =jj +ii
enddo
enddo

i BE 112 #

doii =1, 30000
do jj = 1, 300000
kk = (ii + jj) * 1.5
enddo
enddo

Feyx: Bf[E 67.0 F)

do ii = 1, 30000
do jj = 1, 300000
kk = cos(0.25 * jj)
enddo
enddo

Cos PR Wf[E] 285.625 FF,  LUIRIERIES B B K —LL .

do ii = 1, 30000
do jj = 1, 300000
kk = sqrt(0.25 * jj)
enddo
enddo

sqrt BREL: BFIE] 91.75 #0, t HIRIEE K, (H R cos A —LE



